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ay, a a; a a; a
(1)axXb= {by bz} , {bz bx} , {bx by}) = (ayb;—azby, azby—azb;, a;by—ayb,) 000 Oa(aXb) =
y z z T T z

(azayb; — azazby + ayazby — ayazb; + azazby — ayazby) =0

b- (bma X b = brayb, — byazby + byazby — byarb, + braby — bayb, =0

(2)|a|bl?sin®0 = |af?|b2(1 — cos? @) = |a|?|b2 — |a/?|b|%( 2|'“')’| )2 = lal|b* — (a*b)? = (@’ +a’ +a2)(b: +
b2+ b2) — (azbz + ayby + a:b,)* = (azby — ayby)* + (azb; — a:b.)* + (ayb; — azby)* = |a X b
(3)bXa = (bya; —bzay, bay — bsaz, bray —byaz) = —aXb
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(4 )%(aXb) = %(aybzfazby, azby—azb;, azby—ayby) = (Ttyb,frayd—;f da; byfazdity, ;; br+
db, day,  db, da, daby  day,  db,
4="qt ar Yz 4= gllt T dt b-’;;“-’ dcti dat b-’db 4y ddt > b b
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dtd:b+gx dt _<dgt R T L Al T T T TR A Tl
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%(axb):%Xa-i-aX%

L = |r||p|sin@ = |r|jmv|sin0@ = m|r|jv|sin0 =m X (r,» 00000000000 )=00
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(2)—k r T k= gy

(3)= *2kM7’2+U%7'172 = *2kM7’1+U§7’17’2
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A 71 ; 71 g
— —2kM(7’2 - 7’1) = 7’17’2(1)% - U%) = 7’11’2(?U% - U%) = TZ(T% - 7%)7}% = 72(7’1 + 7’2)(7’1 —Tz)Uf
2
%M = 1L () + ry0?
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v = 27’sz
7 Gi+ror)
_ | _2nkM
O00000wvy = (1’2"1‘7’1)7’2
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(1)py = |r|jv|cos @ = wr?
p2 = |r'||v| cos O = dwr?

p2=4p, 00000
(2)wr?
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(1E = Smv}, p = [rllo] = roy
(2)p’=\r’\|v’|=rlv’DDp=p’DDDv’=%vo
(3)rl<roDDD%>1DDD v >0 000000000
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